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WORKSHEET ON INVERSE TRIGONOMETRIC FUNCTIONS (WS —z,/.,]
CLASS - 12

ONE MARK QUESTIONS

1. Find the principal value of the following:
a) sin‘l(%) b) cos™?! (—:7—;) ¢) tan™?! (%) d) cosec™1(-2) e)sec (- %)
Find the value of the following:
a) sin"l(singé—r) b) cos~*(cos BTH) c) tan‘l(tanzﬁﬁ) d) cosec™*(cosec E) €) Secﬂl(secg?‘)-
3. Evaluate the following:
a) sin {;—I —sin™?! (:f-)} b) sin (-;- cos™t -E) c) tcm-;— (.r:c:;s'jL v;_g)
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4. FEvaluate: cos (sin"1 % + cos™ -1-3)

5. Show that: tan™*(Vx) = -;-ccvs‘1 (l_—x) .
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FOUR MARKS QUESTIONS

Vi+xZ + V1-=x2 T 1 -
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6. Prove that tan {-w/==1+xz P e ‘z‘} - + 5 COS x“.

1 42 1 _13
7. Prove that tan 1;+ tan 1;=5cos lg.

8. Prove that cot™? (‘:ijbl) + cot™?! (bc_?) + cot™? (Caﬂ) =),
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9. Prove that tan"lfi + tan™?
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10. Prove that cos 1-5—+cos 1;~§=cos 1=

11. Solve for x: sin™*(1 — x) — 2sin"*x = 72-[

. 2 2 2 .
12. If cos™* E + cos'lg = @, then prove that 25 - —fblcose + J;—z— = sin?6.
E l "12) (E_}.. "lg)z..z_?.
13. Prove that ta.n(4+zcas >) ttan(;—3c0s ) o

. = x"--1) _,1( 2x ) _z2
14. Solve for x: cos (x_—=+1 +tan” |5 ) =+
x+1

15. Solve for x: tan™? (i—:—-;-) + tan™t (m) = E.



